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(1 point of extra credit included)

Chem 309 - Spring 13

1. The triglyceride below is also called a fat molecule. Circle the three hydrocarbon tails and classify
them as saturated, unsaturated (cis), or unsaturated (trans). : . Q@pts)
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triglyceride
9 What isthe BEST term to describe the relationship between the following pairs of compounds:
| = identical; C = conformers; SI - structural (constitutional) isomers; Gl geometric (cis/trans)
isomers; CD = completely different compounds. (5 pts)
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3. The skeletal-line structure Fo_r [actic acid is shown below. .
O

OH
OH

a)‘ Draw the Lewis structure. Remembertomclude{be lone pair electrons,
O H O
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b)  Write the condensed structural formula.

C:ﬁs C (ot }CDZH

&) Write the molecular formula.

| C?:H(OOQ

4)  Whatis the molar mass of lactic acid? Remember to include units.

(o) = 30>
plrot) = eoon
S }Cwa) = H30e

9000 %ol
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© Chemn 309 Spring 3 - Name {A<<453\\,&
: - Quiz5 '
There are 2 pts of extra cred it on the {:rorft and 5 points ofextra credit on Jthe back

1. Give the IUPAC name for each compound below. Remember cis/trans ifapplicabl (6 pts
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2. Draw the skeletal-line structure for each of the {:ol owing compounds

3) diethyl ether /\O/\ '

b) 2-pentanone X/\ B
LS

c) trans-1,3-dimethylcyclohexane

WUCH}
d) ide | Q |
propahamide
o '\/KMHl

e) acetic acid (ethanoic acid) C%
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Extra “Extra Credit”

3. What is the BEST term to describe the relationship between the following pairs of compounds:
- _I = identical; C = conformers; SI - structural (constitutional) isomers; Gl geometric (cis/trans) -
isomers; CD = complefely different compounds. . (5 pts)

= = N ¢ D
\DO\\/\ \)'LM)\ ,,i/\gm uﬁf\ony/uf t“*d_,

c) - c\HC3:C/0H20H3 o Q bOJT{/\
r{ \{, | C;tD%{

Y __//—‘3\ and N A~

TS s

o (W) 4 @

G
A\

(1S IS
cahin 2perdumng




Chem 309 ~ Spring 13 . Name ‘Sﬁd

Quiz 7
(2 points of extra credﬂc)

1 Hypervenﬁ[aflor) describes the condlflon where the breafhmg rate is increased. Use the reaction below to
answet the following. questions.

CO2(q) + H200)

H2COs039) H+(aq) + HCOz g

Would hyperventilation cause the blood pH to increase or decrease? Explain your answer using what you
know about equilibrium and acid/base chemistry. (1pt)

P beaatiaing, rafe. L TWOL T A
/A/sw%i\ fothae_left = \L):H‘f}l |

2. Which system would you expect to be 3 better buffer system? Explain your reasoning. (1 pt)
a. 0.1 M NaH2POzand O.1 M NaOH ' '

b. 0.1 M NaH2POxand O M HNOs
0.1 M NaH2POs and 0.1 M NazHPOy

<imilar
T wesk add 4 wakbre & Comcets

3. Whatare ’che concenttations and pH values of the three solutions prepared from 1:10 serla{ dilutions of

O.TM hydrochloric acid? Completethe table below to summarize your answers. (2 pts)
Solution [Hs0*] . pH
Original solution 01M 1.0

Tt serial dilution O ,O ‘M - , Z \O

2nd s_erl‘aldl'[uﬁon | O‘ OOlM ‘ _ 3!0 o

4. Whatls the hydroxide concentration of 3 sample with a pH of 4,022 ~ (1pt)

CHY = |D'“‘ S ToHd= 1O°M
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5. Predict the prodéc’cs of the following reactions. For reaction (c), balance the reaction. C (4pts)
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6. For the reaction below, label each reactant as an “acid” or “base”; label each product as “conjugate base” or

" “conjugate acid”; and draw arrows to connect the conjugate acid-base pairs. B?ks
HO—pP—OCH, + HO 5 ~ O—P—OCH; + HO
OCHj, ' ' OCHjs .
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